Nara Women's University

XEMDOFTEDEE L FEM61FEEXELEN HENIZ
DN T

EE&: Japanese

HhRE: RRXFREXZIHMEF - BFER
~BH: 2010-10-05

*F—7—NK (Ja):

*—7— K (En):

EEE: oK, ZEF, BA, =F

X—=ILT7 KL AR:

il=F

http://hdl.handle.net/10935/2146




BRETAFXELBHE
SEZHMACERLHR

198746 A
X & £ O FTE O X E ¢
BAI61EEXELEFIRFERICOVT

H#ER WA E=F  w"K ET

RHB TEMOTFHOEE
PRFISSEER 1,500,000

56 1,560,000 A
57 1,444,000 [
58 1,200,000 A
59 1,300,000 M
60 1,500,000 /4
61 1,500,000 M

AERE (BA61FH) KT iF| ARR
—%8 (k1) H
M (&R2) -1
=0 (&3 - 4) H

AFEFEOFFRNAOEL DT, MBHISKZHOB L TRUERF R, SRFECLREPLHL
S TWET, ARTREMOFEENERLENTORVOT, BEM, BikA EBEENEHAE &1
STWVB, TN EN—IEEVHLEARBICLTV S L EL S, R, LOTHEEHHERREM
SRIETLHPLUREFEVHTHEELSHMTATL LD

EBERCL-THNT, ULHArHFOEBEBRAY VE -V E3HYTREVDT, Ro TAEE
bHTAELSC, HINOMITH S, ARTRAFEMNUEOon, RBLEBEPHELL-TEY, £
DEBRPBELBE(LE->TW 5,

PDEDESNBAARBT L0, 1. HMOBNEEC, 20 HYEZAJNCHRT S,

3. RMIERET S, BEDT EHBHENLEEDNS,



MHMGIEFLIFEY 4A SA 6A HELMARR

1 th 2 h 3 &1 2 3 &
16 16 2 6 1 0 2
‘A Dral [21e] |2 1€ 1o |2 o] | ] P
2 18 12 30 6 3 2 4 0 2 00 2 5
KB 8E(5)
2 3 2 5 4 4 70
5 g Lol 1% |0 513 R 4o ‘1 12 1y
133 42 3 2 2 5 31 0 4 %67
FEH B 10E(T)
% 21 5 3 0 0 o
6 & 13 ® 15 9 4 4 1 ! | 1 0 12 3B
8 52 7 38 6 3 13 01 01 2 K
S A ---13E (9)
& 60 9 1 5 4 1%
)| (3l |36 7] 7| 5 |, g,
att -
23 108 33 99 15 8 5 12 3 4 05 8 212
;g3 (21)
() NOXFIR. 18 2E0HKMEDEIR
KY
[EITEN
BNAR FAEJ PP ARER
B
W] el T
O | o eAan
sy o« N 0 O e e =
O [ Clx
40 .............. 7 .......................................................
2
. A F et ———
FAEHF ARG w1 Mz %3 A1 52 &3 @
AL BRI F) B AR R
100[ T
A Y [ Btka -
O] I T 22 ms
S b0
A o T 7 s B 7, oot oo
0 s W0 —

&1 %2 3 &




IRF614-BE2 4 9 A 10H 1A 18U MAtR

| 2 43 w1 752 %3 & #
14 18 6 0 1 1 0
o a el 126l 1910 2|, iy 3 |, u (o
1 X g 2 6 3 11 10 2 1 20 54
SR 1108 (T)
18 19 7 0 0 0 Y
o #lel % |y 8 |, 5 |, o, L 2 |,
2 2 23 4 4 2 3 0 0 0 0 0 &
2 {¢v] s RXTEE 126(2)
8 3 10 0 3 3 7
S I -2 bt B BT I 4] N 17 (g
W T 21 a1 9 5 0 1 1 3 0 3 2 &
SEH B 10 (0)
60 &7 3 0 4 4 158
A B (L] 1es|gl [ 8|, 5 | 6 o 3 P
S TN iz ioN] [i9 12 3 5 2 3 2 4 2 2
R B 0 (9 )
() AOECEIR. 1B 2OEHADIEK
FER B LRANR
AAS (0N 5] _
AR oof o T
B o | 2% .
60
. o N\] AT [ S —
" © 2
2 Z
st LRI 52 e / ...... %—l ..............................................
W 12 h3 1 52 3 @)
PAERREM T RIRAG R
AL
0 e
L OSSOSO 7% A
el IO R PO 7 —
w_ -------------------------------------
m—
N7 Z :I Lz .......... e e s
1 2 3 1 &2 %53 (555)




MGl LL LAARRCEER)

il th 2 3 Al 12 553 & 8
o8] [2]8] [o12] [¢]6 2 3 0 |0 o |42
48 19 3 0 0 0
2 18\ [12 30 6 3 2 4 02 00 2 57
i g8 EI(5)
w2l [sB] [s12] [715] [4]4] [410 @ |
5 H 0 0 3 1 0 %
13 14 3 2 2 5 31 04 B 67
BB 10m(7)
ol (12 [ Bl [P L]0 L 10 10 |%
13 15 4 1 1 0
68| g %2 7 3 6 3 13 01 01 2 %
fhe.-13E(9)
3 9 9 1 1 0 B
AN EIMRER 2| oo 4
TH| h2 20 2 38 49 1 2 11 00 20 74
- 7E3)
T} 19 6 0 1 1 40
A RER- R ERE 2|7 o 3 1o LB
98 1 2 12 33 63 11 10 2 1 20 54
)
1 0 0 B
108 2 123 44 23 00 00 20 62
=1 1R 12[7 (10)
) ) 10 0 3 3 7
s 2 12 |e |2 e Ll 4|3 3 w7 | B
1 32\ {24 95 01 13 0 3 2 &
$5th 8 ++----10[] (10)
1 16 7 0 0 0 - |37
o 2% o ()] 2|5 ool Lelo B |3
0 20N [0 31 93 11 00 00 (2055
B’HB---0E(7)
2] 31 14 0 1 1 70
a3 IR el 14 o] Lo 2|, !, |
1A 22| [ 8 6 00 02 D 1 0_99
£ B 10 (10)
w]® (o8 [2o] [o]° o]0 0|0 ME
18 9 0 0 53
2h 0 48 10 10 1 00 00 00 20 90
A 110 (10)
9 g 18 g 1 ‘l’ 0% Jo]® 0 g 3 (U
3A| Jo 9 6 12 10 00 00 0 0 7 2
A4 E)
7 15 1 9 544
s na (B 2 (9 |6 |4 |23 1006 |4
&l | faan 13 6 a8\] |10 20 65 10 2 10 28
54 B ------1058) (79)

() RoXFik, 1820 ADRK




FEMBUFMAMR (FER)

i

300F------- I S e L1 ﬁ'

200

...............................................................

100

f13 il 2 i3 (E)
AL BB R R iR
20 = A
200— —%
I O % ...............................................................
1 [ % ................................. =7 —
60— o ? .................................. P O S
1o —— R —
1201 %
1 [ / ..............................................................
100—| /
/ ...............................................................
o] é i
0 %_ .....................................................
40 %—
20: é_ Z ..................................................
0.... é.... // ...i_%.....m....lgl ...............
gl $h2 43 1 =2 w3 (P
FESNFIBHBR KA DF AR
w2 2% H{HE — 8@
rhl 3%
FRAE—d1 3A@BIA. 2N
2 1BAGILIA, L14A)
13 2A(BOA, L2 A)
&1 O0A
w2 0N
W3 0A




